
Procenta – základní výpočty 
1. Vypočítej: 1 %  z  700 Kč =    1 %   z  8230 =  
    z 420 Kč =     z  0,3 = 
    z 1600 Kč =       z  24,1 = 
    z 2 Kč =     z  9000 = 
 
2. Vypočítej   136 %   z   98. 
 
 
 
 
 
 
 
 
 
 
 
3. Kolik % je 34,8 kg z 60 kg. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
4. Vypočítej 100 % , jestliže  85 %   je 1054. 
 
 
 
 
 
 
 
 
 



 
5. Kolik  %  je 6 720  Kč  z  5 600 Kč. 
 
 
 
 
 
 
 
 
 
 
 
 
6. Vypočítej základ, jestliže    39 %   je   195  t. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
7. Vypočítej  17 %  z   1 400 Kč. 
 
 


